《专业外语》试题题库
命题人：宋利芳
说明：

（1）本试卷分三大题型：英译汉（40分）、汉译英（20分）、写作（40分）。
（2）本题库中，三大题型分别有10道题目。考试时，从三大题型中分别抽取1道题目，即可组成一套试卷。
Ⅰ. Translate the following paragraphs into Chinese ( 40 points )
1. When speaking of demand for a commodity, economists mean the quantity which buyers are willing to purchase at a given price over a given period of time. Demand in an economic sense only exists if the consumers have the money to buy the goods and are willing to pay for them. This is then called effective demand, and means a desire to obtain an article accompanied by the ability and willingness to pay for it at the price asked. In economics, when we speak of demand, we are usually referring to effective demand. Consumers generally want to buy goods and services as cheaply as they can, while sellers want to sell at the highest prices they can obtain, but not so high as to lose sales. The fact that buyers are likely to buy more of an item as the price falls is called the law of demand. On the other hand, as prices rise, sellers would like to sell more and will, if it is possible, offer a larger quantity for sale. This is called the law of supply. 
GDP data are, in practice, used not only as a measure of how much is being produced, but also as a measure of the welfare of the residents of a country. Economists and politicians talk as if an increase in real GDP means that people are better off. But GDP data are far from perfect measures of either economic output or welfare. Some outputs are poorly measured because they are not traded in the market. If you bake homemade pie, the value of your labor isn’t counted in official GDP statistics. If you buy a (no doubt inferior) pie, the baker’s labor is counted. This means that the vastly increased participation of women in labor force has increased official GDP numbers with no offsetting reduction for decreased production at home. Some activities measured as adding to GDP in fact represent the use of resources to avoid or contain “bads” such as crime or risks to national security. Similarly, the accounts do not subtract anything for environmental pollution and degradation. This issue is particularly important in developing countries.
2. Because economists and accountants measure costs differently, they also measure profit differently. An economist measures a firm’s economic profit as the firm’s total revenue minus all the opportunity costs (explicit and implicit) of producing the goods and services sold. An accountant measures the firm’s accounting profit as the firm’s total revenue minus only the firm’s explicit costs. Notice that because the accountant ignores the implicit costs, accounting profit is usually larger than economic profit. For a business to be profitable from an economist’s standpoint, total revenue must cover all the opportunity costs, both explicit and implicit. How would you interpret a zero economic profit? It is not as bad as it sounds. Economists call this condition normal profit. Normal profit is the minimum profit necessary to keep a firm in operation. Zero economic profit signifies there is just enough total revenue to pay the owners for all explicit and implicit costs. Stated differently, there is no benefit from reallocating resources to another use. 
For the economy as a whole, if aggregate demand exceeds aggregate
supply,there will be pressure for prices to rise. An increase in aggregate demand can also affect capital outflow as consumers are prepared to buy more imported goods and services. When there is falling demand and rising unemployment (recession) then an increase in demand will probably be met by an increase in supply by using idle resources. As the economy reaches full, and passes full employment, the demand for goods and services by consumers, businesses and government will increase faster than any possible increase in production. If the increase in aggregate demand is not too rapid, producers can expand production and gradually overcome shortages. If there is a rapid increase in aggregate demand, producers will not be able to meet the demand, and prices will rise. 
3. An industry is a natural monopoly when a single firm can supply a good or service to an entire market at a lower cost than could two or more firms. A natural monopoly arises when there are economies of scale over the relevant range of output. In this case, a single firm can produce any amount of output at least cost. That is, for any given amount of output, a larger number of firms lead to less output per firm and higher average total cost. When a firm is a natural monopoly, it is less concerned about new entrants eroding its monopoly power. Normally, a firm has trouble maintaining a monopoly position without ownership of a key resource or protection from the government. The monopolist’s profit attracts entrants into the market, and these entrants make the market more competitive. By contrast, entering a market in which another firm has a natural monopoly is unattractive. Would-be entrants know that they cannot achieve the same low costs that the monopolist enjoys because, after entry, each firm would have a smaller piece of the market.
If there were no government rules, banks would probably keep only a small fraction of their deposits in the form of reserves. In fact, American banks are today required to keep substantially more reserves than are necessary for meeting customers’ needs. These legal reserve requirements are a crucial part of the mechanism by which the Fed (the U.S.’s central bank) controls the supply of bank money. Legal reserve requirements are set high in order to allow the central bank to control the money supply. Reserve requirements help the central bank conduct its open-market operations by ensuring a stable demand for reserves. By setting reserve requirements above the level that banks desire, the central bank can determine the level of reserves and can thereby control the money supply more precisely. The net effect is an increase in the Federal Reserve’s control over short-term interest rates. 
4. A firm is a monopoly if it is the sole seller of its product and if its product does not have close substitutes. The fundamental cause of monopoly is barriers to entry: A monopoly remains the only seller in its market because other firms cannot enter the market and compete with it. Barriers to entry, in turn, have three main sources: A key resource is owned by a single firm; The government gives a single firm the exclusive right to produce some good or service; The costs of production make a single producer more efficient than a large number of producers. Monopolies, in contrast to competitive markets, fail to allocate resources efficiently. Monopolies produce less than the socially desirable quantity of output and, as a result, charge prices above marginal cost. Policymakers in the government can respond to the problem of monopoly in one of four ways: By trying to make monopolized industries more competitive; By regulating the behavior of the monopolies; By turning some private monopolies into public enterprises; By doing nothing at all.
Pollution of the environment takes several well-known forms: (1) Air pollution. This is the discharge of noxious gases and solid particles into the atmosphere, leading to “smog” conditions in many metropolitan areas. Automobiles and trucks are the main source of this problem; but utility generating plants, steel mills, chemical factories, paper mills, and other manufacturing establishments contribute to it. (2) Water pollution. This type of pollution arises from discharge of organic and inorganic wastes into streams and lakes. These discharges come mainly from industrial establishments; but discharge of inadequately treated sewerage from municipal sewerage systems is an important part of the problem. (3) Accumulation of solid wastes. The automobile junkyard is the most conspicuous example. But every year consumers discard hundreds of millions of tons of cans, bottles, and other trash that form a growing problem for city waste disposal systems.
5. Mutual interdependence among firms in an oligopoly makes this market structure more difficult to analyze than perfect competition, monopoly, or monopolistic competition. The price-output decision of an oligopolist is not simply a matter of charging the price where MR = MC. Making price and output decisions in an oligopoly is like playing a game of chess. One player’s move depends on the anticipated reactions of the opposing player. Likewise, a firm in an oligopoly can make many different possible reactions to the price, nonprice, and output changes of another firm. Consequently, there are different oligopoly models because no single model can cover all cases. There are the following four well-known oligopoly models: nonprice competition, the kinked demand curve, price leadership, and the cartel.
Inflation re-distributes incomes from those who save to those who borrow. Those who save are “punished.” People who have assets find that these will increase in value with inflation. Poorer people are more likely to have cash which loses its value in inflationary times. It is the government that profits most from inflation since the government is the heaviest borrower of money in the economy. Not only is the real value of the government debt decreasing, but the government also benefits from the additional revenues from higher taxes. Inflation can lead to serious unemployment. Inflation directs investment into land and property, as these increase in value rapidly. This type of investment reduces the opportunities to expand output and therefore productivity as there is little investment in capital goods (machinery and equipment) and new technology. Inflation harms exports as these goods and services are now more expensive in overseas markets. In addition, imports are cheaper so that local businesses face increased competition.
6. Let’s assume some likely changes that occur if a perfectly competitive industry is suddenly turned into an oligopoly selling a differentiated product. First, the price charged for the product will be higher than under perfect competition. The smaller the number of firms in an oligopoly and the more difficult it is to enter the industry, the higher the oligopoly price will be in comparison to the perfectly competitive price. Second, an oligopoly is likely to spend money on advertising, product differentiation, and other forms of nonprice competition. These expenditures can shift the demand curve to the right. As a result, both price and output may be higher under oligopoly than under perfect competition. Third, in the long run, a perfectly competitive firm earns zero economic profit. The oligopolist, however, can earn a higher profit because it is more difficult for competitors to enter the industry.
The functions of money are as follows: (1) Medium of exchange. The function of money with which we are all familiar is that of acting as a medium of exchange. Money allows people to avoid the problem of the barter system by removing the need for two people to find each other when both want to exchange their goods for those of the other. (2) Store of value. Money can be stored and spent later on. Unlike stocks of goods, money does not physically deteriorate when stored, although it can lose its value if prices are rising rapidly. If prices remain stable, money is a good store of value because it is a liquid asset. (3) Measure of value. Money is a convenient way to measure the value of goods. If everything has a price, people can compare the price of one good with another, and readily make choices on which they want to buy. (4) Standard of deferred payment. If we sell goods and services and expect to be paid at some future date, we must have an agreed standard according to which the payments are to be made. Deferred payment means that payment is to be made at a later date, or by installments over a period of time. 
7. Because of the importance of foreign exchange rates, governments pay a great deal of attention to what is happening in foreign exchange markets and, more than that, take actions designed to achieve what they regard as desirable movements in exchange rates. There are three ways in which the government—or more precisely the Bank of England on behalf of the government—can operate in the foreign exchange market. So there are three possible foreign exchange market regimes. Under a fixed exchange rate regime, the value of the pound would be pegged by the Bank of England. Under a flexible exchange rate regime, the value of the pound would be determined by market forces with no intervention by the Bank of England. Under a managed exchange rate regime, the Bank of England would intervene in the foreign exchange market to smooth out fluctuations in the value of the pound but it would not seek to maintain the pound at an absolutely constant value for a long period of time.
The size and type of population of an economy is important for two main reasons: (1) As a market for goods and services. All members of the population are consumers in some form or other, and the number of consumers who must share the foods and services available has profound effects on the individual’s standard of living and on the economy itself. (2) The population provides the members of the workforce. The workforce is only a part of the total population. Combined with other resources, the workforce produces most of the goods and services required by the entire population. To a large extent, the size of the population affects the size of the workforce. The larger the available workforce the greater the potential for production, but it is not numbers alone which make for an efficient and effective workforce. The larger the population the greater the number of consumers, which usually means that a larger workforce is needed in order to supply their needs.
8. Several economic forces may have an impact on the balance of payments of a specific nation. Inflation may lead to price level increases, which make domestic goods and services relatively too expensive for nondomestic buyers. Exports will become less competitive and imports will become more attractive to domestic consumers. As exports decline and imports rise, the balance of trade sector in the balance of payments may become negative, and if this trade deficit is not balanced by capital flows, the basic balance of the balance of payments may be in deficit. Higher GNP pushes personal income up and if consumers have a high propensity to import because of relatively higher incomes, imports may increase faster than export, causing a dampening effect on the balance of payments. Interest rates influence foreign investments in money and capital market instruments in a given country. When real interest rates decline in a country, capital outflows occur and the basic balance deficit may increase. 
The WTO is sometimes described as a “free trade” institution, but that is not entirely accurate. The system does allow tariffs and, in limited circumstances, other forms of protection. More accurately, it is a system of rules dedicated to open, fair and undistorted competition. The rules on non-discrimination are designed to secure fair conditions of trade. So too are those on dumping and subsidies. The issues are complex, and the rules try to establish what is fair or unfair, and how governments can respond, in particular by charging additional import duties calculated to compensate for damage caused by unfair trade. Many of the other WTO agreements aim to support fair competition: in agriculture, intellectual property, services, for example. The agreement on government procurement extends competition rules to purchases by thousands of government entities in many countries. 
9. The private costs of a firm are the sum of the explicit and implicit costs that it incurs. The social costs of a firm are those that society in general bears because of the firm’s activities. Social costs would include the private costs of a firm, since presumably all of the firm’s resources could be used elsewhere in producing goods of value to (at least some members of) society. However, social costs would also include costs paid for by society but not by the firm, even though such costs were a result of production by the firm. Examples might include air, water, and noise pollution. A firm could, in addition, generate negative social costs (social benefits) such as the beauty of a well-kept golf course and the resultant increase in the values of surrounding properties. Most people would be pleased that an exclusive country club had decided to locate near their property—even if they wanted only to sell that property for a profit. Social costs are important considerations in economic decision making and law making by society in general.
As the realities of global interdependence slowly penetrate the political perceptions of developed-nation governments, and perhaps eventually their populaces as well, it may lead to the realization that their real long-run economic and political interests in fact lie with the achievement of broad-based development in Third World nations. Eliminating poverty, minimizing inequality, promoting environmentally sustainable development, and raising levels of living for the masses of LDC peoples may turn out to be in the most fundamental self-interest of developed nations. This is not because of any humanitarian ideals but simply because in the long run, there can be no dual futures for humankind, one for the very rich and another for the very poor, without the proliferation of global or regional conflict. Enlightened self-interest may therefore be the only peg on which to hang the hope for a “new international economic order” in which both foreign assistance and private investment can begin to make a real and lasting contribution to Third World development.

10. Besides the use of tariffs to distort the free-trade allocation of resources, government policymakers have become very adept at using other, less visible, forms of trade barriers. These are usually called nontariff barriers (NTBs) to trade, and they have become more prominent in recent years. Subsidies to domestic firms have direct implications for trade. Although a particular subsidy may not be intended to affect trade, a subsidy that reduces a firm’s cost may stimulate exports. In the case of an import-competing firm, the lowering of a firm’s own costs through government subsidies can make the domestic firm more cost-competitive, leading to an expansion of output and employment and a reduction in imports. Similarly, government-provided managerial assistance, retraining programs, R&D financing, investment tax credits or special tax benefits to domestic firms that are producing traded goods can have a direct impact on relative cost competitiveness and international trade.
While there are a few different conceptualizations of globalization, researchers seem to be in agreement that there are at least two dimensions of globalization: economic and political. The economic aspects of globalization stem from the spread of the capitalist world economy and the resulting expansion of geographical boundaries for the production and consumption of goods and services. The need for cheap raw materials, cheap labor and new markets saw the expansion of the capitalist world economy from one that was primarily Eurocentric to one that encompassed the entire world. The political aspects of globalization involved establishing control over markets and raw materials through either the use of direct military power or the establishment of international institutions (through diplomacy) that control such markets. The rise of the nation-state is an example of the political aspect of globalization.
Ⅱ. Translate the following paragraph into English ( 20 points )
1. 1995-2016年间，中国成为澳大利亚反倾销的首要目标国，同时，澳对华反倾销和反补贴调查案件日趋增多，钢铁产品则是澳对华反倾销的第一大目标产品。为有效应对未来澳对华反倾销，中国应在中澳自贸协定升级谈判中，力争加入限制乃至互不适用反倾销条款，同时要积极应诉，重视和遏制澳对华反倾销和反补贴调查，并扩大对澳工业制成品行业的直接投资。
2. 自20世纪90年代末期以来，随着中国对美国贸易顺差的迅速扩大，中美贸易摩擦也呈日益加剧的态势。面对两国间的贸易摩擦，并不意味着人民币应当大幅度升值。相反，美国应加速经济结构调整，改变其扩张性财政政策，提高储蓄率；中国则应采取切实的政策措施，以扩大内需，并努力提高创新能力。只有这样，中美经贸关系才能得到进一步的改善和发展。
    3．20世纪90年代以来，经济全球化迅速发展并日益成为世界经济发展的新趋势。虽然经济全球化促进了世界各国的生产、贸易和投资，但是发展中国家与发达国家之间的经济差距不但没有缩小，反而进一步扩大了。因此，对发展中国家而言，经济全球化既是机遇，又是挑战。发展中国家应当调整发展战略，加快改革开放进程，以实现经济的快速增长与发展。
    4. 根据《关于建立世界贸易组织的协定》，世界贸易组织的的目标如下：提高生活水平；保证充分就业以及实际收入与有效需求的大幅度稳定增长；扩大商品与服务的生产和贸易；允许根据可持续发展目标合理地利用世界资源；保证发展中国家，特别是它们中间的最不发达国家在国际贸易增长中获得与他们的经济发展需要相适应的份额。
5. 科学技术、创新与经济发展之间有着密切联系。创新是经济发展的核心驱动力，当代世界的竞争实质上是科技实力的竞争。科学技术是第一生产力，世界经济的演进已使科学技术成为影响经济发展的关键因素。广大发展中国家之所以长期落后，其主要原因之一就是科技落后并缺乏有效的国家创新体系。因此，发展中国家应当采取措施，大力发展科学技术，积极鼓励创新，以促进经济发展。
6. “一带一路”是指“丝绸之路经济带”和“21世纪海上丝绸之路”,是中国为推动经济全球化深入发展而提出的国际区域经济合作新模式。其核心目标是促进经济要素有序自由流动、资源高效配置和市场深度融合,推动开展更大范围、更高水平、更深层次的区域合作。“一带一路”框架下的合作重点包括五个方面，即政策沟通、设施联通、贸易畅通、资金融通和民心相通。
7. 在经济发展的初级阶段，大多数发展中国家的中心目标是实现工业化和解决贫困问题。然而，随着工业化进程的加快，人口急剧增加，工业技术落后，对资源的过度开采和使用，引发了一系列诸如水质污染、森林减少和土地沙漠化等环境问题。这些问题不仅有损于发展中国家人民的健康，降低了生活福利水平，而且还妨碍了经济的进一步发展。因此，如何实现可持续发展已成为发展中国家的重要课题。
8. 国际贸易是经济增长的引擎。自第二次世界大战结束以来，广大发展中国家为了谋求经济发展，纷纷实施了以进口替代和出口鼓励为代表的贸易发展战略与政策。在当今的经济全球化背景下，国际贸易形成了新的格局，并对发展中国家的国际贸易产生了重大影响。因此，包括中国在内的广大发展中国家应当调整贸易发展战略与政策，积极应对经济全球化的挑战。
9. 经济结构与经济发展阶段有着密切的联系，经济结构合理与否会直接影响和决定着一国经济发展的质量。在中国经济步入新常态发展阶段后，以经济结构调整为核心的调结构将与稳增长、促改革、惠民生一起共同成为今后中国经济发展的重要任务。为了实现中国经济结构的调整升级，必须实现产业结构的优化升级，着力调整需求结构，加快技术进步，同时还要努力促进我国区域经济的协调发展。
10. 城市化是社会经济发展到一定阶段的必然产物。改革开放以来，中国城市化迅速发展并取得显著成就，但也存在着一些问题，包括：城市化发展落后于世界水平、城市化区域发展不平衡以及城市化规模分布不合理等。因此，中国应当在总结城市化进程经验教训的基础上，调整和制定城市化战略，积极稳妥推进城市化，着力提高城市化质量，推进中国城市化健康发展。
Ⅲ. Writing ( 350 ~ 400 words ) ( 40 points )
1. The significance of the Belt and Road (Land and Maritime Silk Road) initiative for China’s economic development.
2. The major problems facing the existing Chinese economic development.
3. China’s countermeasures to deal with the increasing trade barriers against China’s exports.
4. What’s the relationship between economic development and environmental protection?
5. Explain how to realize the transformation of China's economic development mode in the near future.
6. With the rapid economic growth, China has also significantly increased the demand for energy, especially petroleum and natural gas. How do you think of China’s energy strategy or policy?
7. In the last nearly 4 decades, China has experienced rapid economic growth and development, and now has become the second largest economy over the world. How do you evaluate the status of the existing China’s economy?
8. Suppose you are the chairman of the central bank at a time when the economy is beginning to overheat. Write an explanation outlining how you would proceed to maintain stable economic growth. 
9. Just as every coin has two sides, globalization has both positive and negative effects. Discuss the impact of economic globalization on the Chinese economy. 
10. Most of the emerging market economies have been among the upper-middle-income economies, but the risk of falling into “middle-income trap” which has been perplexing many developing economies has been emerging gradually. It is believed that China will be able to successfully cross the “middle-income trap” and to join the list of high income economies. What is your opinion?
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